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The lgre in tlt€ margltr ttrdL.rte
ItU m':rks tor the qr,€stlorls.

Arswer ong jrc questlons.

l. (o, what ls the prlnclple ofTwo-Theodolite
Method for settlng out strnple ctrcular
curve ? Explaln tts pmcedure.

5

(b) The foUov/ing perpendlcular offsets were
taken from a chaln ltne to a hedge :

Chalnrge : O l5 30 45 60 70 80 rOO

oEsets : 6.20 7,4o 9.& r2.oo 14 20 lo 20 9 30 4 2,

Calculate the area between the survqr
Itne, the hedge arrd the end offsets by-
(0 Trapezotdal rule

{ti,) Slnpson's rule. 5+5
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